
Graphing:

x y

-2 4

-1 1

0 0

1 1

2 4

Pt.

(-2,4)

(-1,1)

(0,0)

(1,1)

(2,4)

𝑦 =  𝑥ଶ

Table of Values

Notice: the pattern from the vertex (0,0) is symmetrical on both sides. 

Over 1, 1 squared = 1, up 1. Back to the vertex. Over 2, 2 squared = 4, up 4. 

𝑦 = 𝑥ଶ

𝑦 = (−2)ଶ

𝑦 = 4

𝑦 = 𝑥ଶ

𝑦 = (−1)ଶ

𝑦 = 1

𝑦 = 𝑥ଶ

𝑦 = (0)ଶ

𝑦 = 0

𝑦 = 𝑥ଶ

𝑦 = (1)ଶ

𝑦 = 1

𝑦 = 𝑥ଶ

𝑦 = (2)ଶ

𝑦 = 4

Vertex:

𝑦 =  𝑥ଶ

𝐴𝑂𝑆: 𝑥 = 0 𝑅: 𝑦 ≥ 0 𝑥𝐸𝑅

𝑉: (0,0)

Domain

Range
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𝑦 = 𝑥ଶ − 4

Graphing:

x y

-2 5

-1 2

0 1

1 2

2 5

Pt.

(-2,5)

(-1,2)

(0,1)

(1,2)

(2,5)

𝑦 =  𝑥ଶ + 1

Table of Values

Notice: the graph of 𝑦 =  𝑥ଶ + 1 is the graph 𝑦 =  𝑥ଶ shifted up 1. "c" is the y intercept. "c" is only the 
vertex if there is no "b".

𝑦 = 𝑥ଶ + 2 𝑦 = 𝑥ଶ

𝑦 = 𝑥ଶ + 1
𝑦 = (−2)ଶ+1
𝑦 = 4 + 1
𝑦 = 5

𝑦 = 𝑥ଶ + 1
𝑦 = (−1)ଶ+1
𝑦 = 1 + 1
𝑦 = 2

𝑦 = 𝑥ଶ + 1
𝑦 = (0)ଶ+1
𝑦 = 0 + 1
𝑦 = 5

𝑦 = 𝑥ଶ + 1
𝑦 = (1)ଶ+1
𝑦 = 1 + 1
𝑦 = 2

𝑦 = 𝑥ଶ + 1
𝑦 = (2)ଶ+1
𝑦 = 4 + 1
𝑦 = 5

𝑦 =  𝑥ଶ + 𝑐 𝑦 =  𝑥ଶ + 1
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Graphing: 𝑦 =  (𝑥 − 𝑝)ଶ

x y

0 4

1 1

2 0

3 1

4 4

Pt.

(0,4)

(1,1)

(2,0)

(3,1)

(4,4)

𝑦 = (𝑥 − 2)ଶ

Table of Values

Notice: the graph of 𝑦 =  (𝑥 − 𝑝)ଶ is the graph 𝑦 =  𝑥ଶ shifted right 2. 
Notice we shift the opposite of "p". 

𝑦 = 𝑥ଶ

𝑦 = (𝑥 + 3)ଶ

𝑦 = (𝑥 − 2)ଶ

𝑦 = (𝑥 − 2)ଶ

𝑦 = ൫(0) − 2൯
ଶ

𝑦 = (0 − 2)ଶ

𝑦 = (−2)ଶ

𝑦 = 4

𝑦 = (𝑥 − 2)ଶ

𝑦 = ൫(1) − 2൯
ଶ

𝑦 = (1 − 2)ଶ

𝑦 = (−1)ଶ

𝑦 = 1

𝑦 = (𝑥 − 2)ଶ

𝑦 = ൫(2) − 2൯
ଶ

𝑦 = (2 − 2)ଶ

𝑦 = (0)ଶ

𝑦 = 0

𝑦 = (𝑥 − 2)ଶ

𝑦 = ൫(3) − 2൯
ଶ

𝑦 = (3 − 2)ଶ

𝑦 = (−1)ଶ

𝑦 = 1

𝑦 = (𝑥 − 2)ଶ

𝑦 = ൫(4) − 2൯
ଶ

𝑦 = (4 − 2)ଶ

𝑦 = (2)ଶ

𝑦 = 4
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𝑦 = −𝑥ଶGraphing: 𝑦 = −𝑥ଶ

x y

-2 -4

-1 -1

0 0

1 -1

2 -4

Pt.

(-2,-4)

(-1,-1)

(0,0)

(1,-1)

(2,-4)

𝑦 = −𝑥ଶ

Table of Values

Notice: The graph of 𝑦 = −𝑥ଶ is the graph of 𝑦 = 𝑥ଶ  opening downwards.
Over 1, 1 squared = 1, down 1. Back to the vertex. Over 2, 2 squared = 4, down 4. 

𝑦 = −𝑥ଶ

𝑦 = 𝑥ଶ

𝑦 = −𝑥ଶ

𝑦 = −(−2)ଶ

𝑦 = −4

𝑦 = −𝑥ଶ

𝑦 = −(−1)ଶ

𝑦 = −1

𝑦 = −𝑥ଶ

𝑦 = −(0)ଶ

𝑦 = −4

𝑦 = −𝑥ଶ

𝑦 = −(1)ଶ

𝑦 = −1

𝑦 = −𝑥ଶ

𝑦 = −(2)ଶ

𝑦 = −4
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